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o )

a4, 1fAKx) =| S S™ 0| en [AMTE =

-sinx cosx 0
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1) A() 2) =A(X) 3) A(-x) 4) =A(-x)
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1 373 1893
1 372 1892
1 371 1891

1) O 2) 1 3) -1
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X* 5 y*+z°
Y? 5 Z°+x°
Z° 5 X°+y°

1) 5+x°+y°+z°  2)x“+y*+z° 3)0  4) None
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ab -b%2 bc ra’b°c” then A is
ac bc -c°

)1  2)2 3)3 4)4
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48) In any AABC

then sin“A+sin°B+sin“Cis 1) 9/4 2)4/9 3)3 4)1
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Xty y+zZ Z+X
49) The value of |y y  zZ

Xy Y-Z Z-X

1) 2(x+y+2)°  2) 2(xty+2)" 3)0  4) (x+y+2)’
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51) The roots of the equation
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& |A°| = 125, then X is

3 4)45
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then A% + A>— A%-

3)A  4)None
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55) If the matrix | is skew symmetric matrix

then a+b+c+d+e+f =

N4  2)0 3)-4 4)10
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56) If A Is symmetric matrix and B is a skew symmetric matrix
of same order, then A® + B* is

1) symmetric matrix  2) skew symmetric matrix
3) unit matrix 4) None
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[ A
-1 2 1

4 y+) 1| Isasingular matrix, thenx=

L 2 Xl
1or0  2)-1or0  3)lor-2  4)0or-2
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then A Is
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1) dA =3B+l 2)dA=3B 3) dA=-3B 4)None
ax ax fx
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60) The value of

1) xy
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